A& ol

SHAE S E A A

SN MK
o200 Melag
B o: o200 BYTA 2L
& 21 Jareliagl (crel: &g
SRR 0 of & o rSJEL=L IR CmEES
ES Al 5,958,562 7,553,432 A 1,504,870
M= X2 Dt 5,958,562 7,553,432 21,504,870
200 M2l==¢ 2,860,000 1,860,000 1,000,000
210 ZAE A2+ 2,860,000 1,860,000 1,000,000
211 THAH O ==& 60,000 60,000 0
211-02 SRMAUUZ 60,000 60,000 0
ORZHSAIL AR 60,000
212 AliEE2 Y 2,800,000 1,800,000 1,000,000
212-09 JIEtAE = 2,800,000 1,800,000 1,000,000
OZZHSAIL ABE 2,800,000
50 232 3,098,562 5,693,432 A2,594,870
510 2 UEX3S 2,084,004 854,393 1,229,611
511 FNBEXZS 2,084,004 854,393 1,229,611
511-02 NG DL NEHIIAHEXS 200,000 0 200,000
ONYS CEHASD A 200,000
51103 713 1,884,004 854,393 1,029,611
OAZZUH0|BH X2 1,359, 120
oYyt BHHSKK Bhx 168,764
OHzd MEHSXEZA HIX 92,064
OO X=X Ui X 62,604
OZHAAZ=AHO0IEE XA 201,432
520 Al - SHIBXEZS 1,014,558 4,839,039 A\3,824,481
521 Al - SHIEX2E 1,014,558 4,839,039 N\3,824,481
521-01 Al - EHIEXZS 1,014,558 4,839,039 A\3,824,481
OAZZUH0IBH X2 174,744
OMEHSDY 29 6,522
OMdE=sZE20d 22 4,269
OZOoHel MEXSXESA HiX 15,651
OFofel HZSOt2l X2 12,474
OZUQIATZAHOIZH X 25,898
OYEE LSAL 22U AR 175,000
OSS2MEILAT =2FH DAL 450,000
OUMSIATST ALS HLBA 160,000




H & 0l & AHS B Ml A

A MK

M MEHs 54
Chel: MEX| 2435 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
M= X1t 21,515,923 26,912,966 Ab,397,043
= 200,000
| 1,884,004
& 1,014,558
Al 18,417,361
MEHE 54 12,029, 167 17,455,190 25,426,023
iy 200,000
J| 1,884,004
& 1,014,558
Al 8,930,605
MEHs 2435t 4,582,014 2,739,804 1,842,210
| 1,884,004
= 239,558
Al 2,458,452
AZX 25 0|8H XA 1,941,600 740,000 1,201,600
| 1,359,120
& 174,744
Al 407,736
301 LetENZ 1,941,600 740,000 1,201,600
| 1,359,120
& 174,744
Al 407,736
01 AISIBE X 2GS (2 RETME) 1,941,600 740,000 1,201,600
OAEZ=ZHOIZH KA 1,941,600
| 1,359,120
& 174,744
Al 407,736
MW 29 28,980 28,980 0
& 6,522
Al 22,458
307 QIZ2t01A 28,980 28,980 0
= 6,522
Al 22,458
02 QIZHBAAIEER 28,980 28,980 0
Odasns 29 28,980
& 6,522
Al 22,458
MEISEZZ2 Y 29 19,050 19,050 0
T 4,269
Al 14,781
307 212+01™ 19,050 19,050 0
& 4,269
Al 14,781
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2M: HSXAD
M MBS

=1 =S
el MBS 243 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 91,584
ONZ4l MEMSXTA XY ZHS
160,000 +6& 960
D) 480
Al 480
;&'i%‘_“gﬂl_‘.:_ﬂ(%'ﬁ'_} H24!) X 2LEE (XM 326,117 211,343 114,774
307 el2to| & 326,117 211,343 114,774
02 2B YA HE A 326,117 211,343 14,774
OMENEXNCA 2K 326,117
MU It & HEIXE 413,100 302,460 110,640
307 21201 & 413,100 300,300 112,800
02 QIS ER 148,300 28,300 120,000
OS=E 3¢ & d=03 &t A= 24,800
OZg & &= JHoIE=Ua &It K& 3,500
OXNpal BgdEdsU=d It N 120,000
04 QIZHHAIAIH 2 £ 264,800 272,000 AT7,200
OAIFIl &=E H=U2l izl XA 72,400
—KMi242l AIEII =2U2 20,000
— M8zl AIEDI| OF2UHEl 10,000
—M263] AZHH BH=2IE = 10,000
— K62l AIEHH ma=Z0H= 4,000
—Hl433 AIEJ| HILIAHZ 4,000
—M173 AIEHH T 5,000
—HMI318 AIEJ1 HOoIEZU= 2,400
—HM23 AEHi SAatt=] 3,000
— K22l AIZHH HH2CH =] 5,000
— X262l AIZHH EH 2 =CH=] 5,000
—HN22l AIEH S22 4,000
O8alHI| SSE MUl Mzl X2 136,000
O8.1523=2018 =5=dZ2 2JIU3 40,000
OWN 2Itef & JISAL 8,000
ORIZIMIFHAL HAIEX 8,400
s.2344 53(1-210) 2¢ 24,300 24,300 0
307 elztol & 24,300 24,300
04 QIZHHAMAIRH 2 X 24,300 24,300
O2024 =.84E =3(1-210) 2< 24,300
ZOHe! MEHSXICX HHXI(OIZEX) 125,208 118,565 6,643
) 62,604
S 15,651
Al 46,953
307 glztol & 125,208 118,565 6.643
Jl 62,604




2A:

PN

M MBS S4
Chol: MBS 243 (Shol: &2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 15,651
Al 46,953
02 2IZHB A E £ 125,208 118,565 6,643
Ol M=K 22|
2,595,000 ~4H 123 124,560
Jl 62,280
== 16,570
Al 46,710
O HEHFSA=A AN-2SEE=
62,0002 x4 648
) 324
S 81
Al 243
ZoHQl MEHSFXEA Xl SSEX(XMMH) 60,878 48,259 12,619
307 el2tol & 60,878 48,259 12,619
02 2B YAIHE A 60,878 48,259 12,619
OZMAHEMEXN A 2SK 60,878
ol MEgs A 546,924 464,140 82,784
307 21201 & 546,924 464,140 82,784
02 QIS ER 120,720 128,680 AT,960
Os0telEsl thal IR 9,700
-Zgds0t =gzl 2,600
-Zgs0lH=FU= 5,470
—s0toIEETE 1,630
OXHEE= Ul I 5,940
- NE=HZMHATII=THE 1,500
— HHAIZH E2XMOoi0tetEHa 1,000
-~ SEIXNHEHS! HMFCHE 1,000
—ZoHA=VIME S 940
— et =i QI+ CHEI SO A XY
3l 1,500
OZEAIZE0R! M= I 3,480
OJtYEH Ual HIHKEA 21,600
ORMzrel 28 I EEHFUE SO 51,000
ORMl443 = HOHAIMFHR It 11,000
ONI182l &= HUStEMSUHa I 5,000
OH 0! AIAITHR EIHKIE 2,000
Od=ME & STl ot o= X3 6,000
OHMAHEB LSS DA AL 5,000
03 M EHE2SHIEx 280,704 180,160 100,544
OZHAIZHLIMF2l AAR= 21244| 189,661
-Jlgg % M=¢ 156,881
-g3RfEs & EANES 32,780




2A:

PN

M MBS S4
el Metis 243 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZHAIZMLMF2 AR= 28I 87,653
OZolAI MM F2l AIR=2E Sel=d
] 3,390
04 QIZHHAMAIH 2 £ 145,500 185,300 29,800
OE=E 3 H=l X 67,500
ORNIM12l ZaHAl ZHOHIM =2l JHE 50,000
ORMI52| ZaHAl OIS EZIITHE KA 20,000
O20243 ZoiAIFOHAHFAIAA & WSO
o g 8,000
ZoHe! M=Es0tel K& 52,000 54,000 A2,000
< 12,474
Al 39,526
307 212+01& 52,000 54,000 22,000
= 12,474
Al 39,526
02 2IZHB A E & 52,000 54,000 /2,000
OFeIME S0t XNA(ZHIEX) 52,000
= 12,474
Al 30,526
ZoHe! AX=2AR0IE XIS 287,760 34,000 253,760
Il 201,432
= 25,898
Al 60,430
301 EtE N = 287,760 34,000 253,760
) 201,432
& 25,898
Al 60,430
01 A2 HSHS(RNEERTH) 287,760 34,000 253,760
OZMAUAZ=2AR0IZSH XIS 287,760
Jl 201,432
< 25,898
Al 60,430
s322x=g 29 X 234,401 188,085 46,316
307 elztol & 234,401 188,085 46,316
03 I HEE2SHIEx 234,401 188,085 46,316
OUSAIE(BEE)AEZ=3S &I 122,019
OUHZAIE(ZEE)AZZZY SSHSAL
OlSAt 2N 22X 44,204
OUHESAIE (SEE)AZXZY JIAEAAL
=4 244l N 38,298
Ot (eSS ALX2Y IHEH| 20,000
Ot WS (S E2H)ALX2Y Ae|EM
~ 28 Y MNEPH XL 9,880
HEAE &8 & RAES 7,447,153 14,715,386 AT,268,233




2A:

PN

Hu: MBS SA
o9l HSAM 2B Y SN2 (e &8l
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 200,000
=S 775,000
Al 6,472,153
HEAE RAES 2,071,160 955,200 1,115,960
101 21AH| 66,526 0 66,526
M ORNZZ2NSE s 66,526 0 66,526
OM=AlIE 223 66,526
-Jl=s 78,8803 x7 & *62 34,234
-ma5dsE 78,880 x 7 * 162 8,835
-Zl=2esd
78,8802 x7H*162! *150f% 13,252
—AAxt=E 78,8803 x7 H+3 1,657
- =4l 5,000 +7&+62 2,170
—-JI22E MelE2E8=
57,978,000& *11% 6,378
201 fer= 3| 207,910 213,960 26,050
01 AtR2tc|HI 54,420 23,700 30,720
Oaxgotdze|tiE S (2ell, Mg, &
FH=s2) 120,000 x304 =% 123 4,320
OZZHSAIL (ML) et 2|2
A 150,000 +6IH 2+ 123 10,800
OMoIey Had
70,0002 x 1574 2+63] 6,300
ONMEAIE FX&e I & Sz
600,000 *52] 3,000
ONMSFAIE A72 =44 30,000
2 s5=34l 139,440 170,760 A31,320
OMEsd € M2 S JIIMER
500,000 «2101 A+ 122 126,000
ONMEAIE dot= AEZ
70,0003 1674 2% 123 13,440
03 A2 I 14,050 19,500 A5,450
OZdSHE2 2= 14,050
—JHEAl A R 2 10,000
-Z3Y, Y S EF= M
4,050,000& 12 4,050
207 ARl 40,000 35,000 5,000
01 H7ESHI 40,000 35,000 5,000
OMSAIE 22|98 DL 9
5,000,000 87K 2 40,000
401 AIZHIZ SO 1,353,000 703,000 650,000
01 Al&H| 1,350,000 700,000 650,000
O=SH=AE 72+ 800,000
Odsliz=2sg =2 AE HEAE 50,000
O2EM=SE A0 WHAY 500,000




2A:

PN

M MEHs 54
o9l HSAL =25 2 224 o zi2)
SA - B S(SIH) - SRR A HIm=S2t
03 Al&2CHYI 3,000 3,000 0
OMSAE SXE Al 3,000
405 XHeHE S| 403,724 403,724
01 AL =ZFSHI 403,724 403,724
OdsHsS H2E - 3%4,874
—OHLHOIA R & ARt HIZ 137,352
—Mgtes 280 171,000
- SEEH & EXID 66,993
-=EENsS2 23 19,529
OdlyHMexs2 28I+ 8,700
— &0 1,600,000 *2CH 3,200
—ol0lZel Ml 2,660,000 *1CH 2,660
—diO=dA ol 2,840,000 *1CH 2,840
OUSHOIEZEE 22
150,000 *1CH 150
SHEI=III=sZE 29 1,135,762 1,135,762
308 AXIEHMSOIN 854,962 854,962
13 SIS CHEE &R A 854,962 854,962
OZ AL SAL RIELAISY 854,962
405 KHFSH| 280,800 280,800
01 ML =ZFSHI 280,800 280,800
Oo&Hl ¢ 205,800
- SEAIECIA0I 92,000,000 *1CH 92,000
-0=E Xt 80,000,000 *1CH 80,000
-A2H 20,000,000 *1CH 20,000
- AEHH 13,000,000 «1CH 13,000
—HlgaEd] 800,000 +1CH 800
OZHoIH ¢ 60,000,000& *1&S 60,000
O=2& dx + 500, 000& *30H4 15,000
ABSE2SE ANEE HE3 FAF) 600,000 300,000 300,000
401 AIEHIZL 201 600,000 300,000 300,000
01 Al&HI 600,000 300,000 300,000
OAldE HE 14 600,000
CEHSE 29 70,231 75,186 A4,955
201 B2 AY| 8,300 13,255 24,955
01 At22teld| 4,460 9,415 A4,955
O M= 55,0002 *407H 2,200
OANREE ¢ 1,620
S & 4| 128,000& *5CH 640
02 2324l 3,840 3,840 0
OEEHESE A2 4|
3,000,000 =10 A& 3,000

_7_




2A:

PN

ma: MBS 84
=Rl HSAE &E 2 RAIES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O&Jl, JIEt St= 70,000 * 122 840
307 el2to| & 57,831 57,831
05 2I2tRIE S 57,831 57,831
OS=eie® 2% 25|
57,831,000& x 1 57,831
405 AtatE = 4,100 4,100
01 Tt =S F=HI 4,100 4,100
cE 7 4,100
E=INE= 1,750,000 *1CH 1,750
=P\ = 2,350,000 *1CH 2,350
dgs U=HNs2 2HE 240,000 0 240,000
[ 200,000
Al 40,000
401 AIEHIZ SR THYI 240,000 0 240,000
[ 200,000
Al 40,000
01 Al&H| 240,000 0 240,000
OAESAH 14 240,000
= 200,000
Al 40,000
ol EHS2 SSAIE HEAY 280,000 280,000
401 A& HIX R0 280,000 280,000
01 AlZH| 280,000 280,000
O==2AE= M 14 280,000
=y A2+ 200,000 200,000
401 AIEHIZL SR 0HYI 200,000 200,000
01 AlZ8| 200,000 200,000
O MIASZHWHx) NEERXES 200,000
mn=a==d 01sA s £X 150,000 0 150,000
401 Al HIZL 201 150,000 150,000
01 Al&H| 150,000 150,000
O0ISAl= A ZXI 14 150,000
AAQISIAANOIES AEINEAS 900,000 0 900,000
401 A& HIX R0 900,000 900,000
01 AlZH| 900,000 900,000
OAIEE JHE 14 900,000
ZHEY 2= AE cIZE2E At 350,000 0 350,000
== 175,000
Al 175,000
401 AIEHIZ R HYI 350,000 0 350,000
< 175,000
Al 175,000




A RS =N L s
Hu: MBS SA
ool FSAL 25 2 SEs (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 360,000 0 350,000
OAIZZ2 JHH 14 350,000
= 175,000
Al 175,000
SSTMELIAZ ==X WHAE 900,000 0 900,000
s 450,000
Al 450,000
401 Al HIZ R 0HbI 900,000 0 900,000
< 450,000
Al 450,000
01 Al&HI 900,000 0 900,000
OXE WAl 14 900,000
S 450,000
Al 450,000
Zoll 2SS AE=S HESA 300,000 0 300,000
= 150,000
Al 150,000
401 Al HIZ S OHbI 300,000 0 300,000
s 150,000
Al 150,000
01 Al&HI 300,000 0 300,000
OAIEZ JHA 14 300,000
[ 150,000
Al 150,000
SEAEZ=MI =4 200,000 200,000
401 AIZHIZ S0 200,000 200,000
01 Al&H| 200,000 200,000
OS® AZXI3 &4 JI2HE Y 200,000
SEA HSSEE =SAE HAA 50,000 50,000
401 AIZHIX 20HH 50,000 50,000
01 AlZ2H| 50,000 50,000
OAIEE JHE 14 50,000
HE&tg |4 825,940 582,800 243,140
AHX0PE 2dst 825,940 582,800 243,140
Coel 2 IR U3 SR(KMIHE) 822,700 579,200 243,500
203 HR=AH] 3,000 9,000 26,000
03 A= PR F&IH| 3,000 9,000 26,000
ONMSF&A 2HHX A BRFAH| 3,000
307 @I2t01 & 819,700 567,500 252,200
04 QIZHHAMAIH 2 £ 819,700 567,500 252,200
O2024 Zol =2 Otet=U=l 72,000
O2024 Zaof OtS<clZ OtetEl = 60,000




2A:

PN

LR Ny
el AXXOPIE 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHRMI22=3] oiS01J] &= cIE o3l 18,000
ORMI7=l ZaAISOIEIOIE2l & 8=S0E
ol =l 18,000
OHMl4al ZoHAIEE H=8 & U2 36,000
O20p4t Aok JHOFZSH HRRAEHT
2 18,000
ORMI52] ZallAlEH Ssd=xd =203 22,500
OXi182l ZoHAIZE 8= HI=UH2 33,000
OHMI13al ZaHAIE d= S50 HILIANS 10,000
02024 == &= d==2U3 20,000
ORMI123] ZaAl=S AU I 8= OtAH
= =g 5,000
ONibal ZaAIEH 3 22 &7l 10,000
OISR T 2| M4bsl &= A=
g FHFIIUE L MR d=dEHs s
tHal 180,000
OHNieral &= ZE ob|d+=2 3 131,400
ORMI43=] HetMsad)| d=2Me =2
il 73,800
OHMI443 TietH=2l3u &= eldtelAll=
tal(8) 72,000
O & =12 U2l |X X 40,000
X ed /XS AE=0PIE 23 3,240 3,600 A360
201 er23 | 3,240 3,600 A360
01 At2teltl 3,240 3,600 A360
OXXZS(LRAERE) E22 M 3,240
HEME |4 8,474,466 8,380,356 94,110
de|EXs gdEt 8,474,466 8,380,356 94,110
=7H 29 2,680,101 2,805,694 A125,593
201 223 244,614 218,950 25,664
01 At22telt] 48,754 77,950 N29,196
O%4 2 A2 294)
52,0002 +67H* 122 3,744
O8&Jl 222 & S 15,000
OH =Xt StolAItE &
100,000 * 122/ +2CH 2,400
OZgrC Zn=% g 10,000
O&ZJ| g2t 3l
330,000 %172 5,610
OF-taaA SRz
1,000,000& 122! 12,000
02 s3=gbl 195,860 141,000 54,860
Od=s==4 22l 552,000 «51H 122 33,120
Od=a ZADIA 23
168,000 571+ 12 10,080

_10_




2A:

PN

X-I;_(H: ﬁ_ci1| O/\‘|
Chol: RIERIS EA3 (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
0244 2222 480,00024 122 5,760
OH4TE |
(900, 0002 » 122 )+(450,0002 x 122 ) 16,200
Odde==a =87 | 2,700
Od=xtg 28z 1,000,000 «2CH 2,000
Ols54 QEY L TV 442
100,000 #5721+ 12 6,000
Ocld Hald & €8D|= 120,000
202 04| 1,260 1,260
01 201l 1,260 1,260
OUBIEE &2 ot
126,000& * 102 1,260
301 EtE NS 2,434,227 2,585,484 151,257
11 dAMEEIXIZE S 28,640 24,000 4,640
O3] dANHRF AHI2 4| 27,640
-Hes 54 3,500
—&U OfLI=2A 200,000& *172] 3,400
—JAHRA 70,0002 +8E *173] 9,520
-220| 25,0003 x 128173 5,100
—ZAIE Y| 8,000&*45& x173] 6,120
ONZEA 25H N2 250,00024 %43 1,000
Rzt - 2SFsS2Y=s 2,405,587 2,561,484 155,897
Oel2H| 1,356,045
-Jl2s 1,325,993
-tE=g 9,600
B <= Kt 40,0002 x10E =122 4,800
SLI=E 20,0002 x20& ~ 128 4,800
-324 22R=E
22,4013 x15A1 2113+ 1Y 3,712
-SF5 Al 140,0002x 12+ 123 1,680
&7 Ne=d
175,000 x1&* 122 2,100
- ASESH| 1,080,000& «12& 12,960
(@)==A=:1= 222,694
-daH dolEEs 15,000
-4 282 1,888, 125,000& *11% 207,694
O&x= 180,000
O=&t| 269,220
-g=2d| 600,000 x35E « 10 210,000
aESONE=T=1a]] 94,0002 x352 18 59,220
OsdEs 7l 36,200
- =75 300,000 x34H~2Z cll 20,400
-E7E8, LIIES 2HES 5,000

_11_




2A:

PN

3 d2H=E 4
&el: HLIEMS 2435 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-Mg % dHISS 900,000& 122 10,800
oul=Hl 41,420
-RLS3 66,0003 30 H+6H 11,880
-5 810,000 x34E 12 27,540
— MIEHl 200,000& *102] 2,000
Olgl =&Yl 57,904
—-cl, FAZ S 94,0003 x22H x28 57,904
OR=6=X2 234,800
-Haldatt Zas(sclsd)
18,000,000& 103 7| 180,000
-t FA 30,000
N e NCEBET]
200,000 «2H 122 4,800
-cd2s Xd=s 20,000
OFASAHI 2,500,000& 22 5,000
ORI AT ESEOHI
72,0002 x4 H 8 2,304
ol 29 1,723,068 1,720,668 2,400
201 ger=3| 25,260 20,700 4,560
01 At 2|l 6,060 5,700 360
O=2 29| 2,160
O=a da423 7g 2,700
Od =Xt SOl AIE & 1,200
2 s5=34l 19,200 15,000 4,200
Odde=4 HY & Vdlg S 3,600
Od==xtg 7Albl 8,400
Ocl A3l 3,000
Oe==4a AN 2 JIIeS 4,200
202 04l 1,000 1,350 A350
01 =LHAHI 1,000 1,350 A350
Ol =d AES2E 0 1,000
301 EetE2 N = 1,696,808 1,693,618 3,190
Rzt - 2SEsS2Y=S 1,696,808 1,693,618 3,190
OglZit| 1,008,000
-Jl2s 990,000
—-J=Eg 9,600
B <= Kt 40,0002 x10E*12& 4,800
SR 20,0003 =20+ 122 4,800
- ASESH| 8,400
OL=¥=3 136,124
-t dol2E= 12,000
-4 28= 124,124
O&x= 50,000

_12_




2A:

PN

3 d2H=E 4
Eel: de|EME 243t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ&t| 257,504
-Eg=Eu| 700,000 ~262 * 12 218,400
—d X2l 94,0002 x26EH 162 39,104
Ozsess+8l 45,000
OLl=H| 28,200
Olizl&d 48,880
-UalEd2d| 94,0003 x26E »20 48,880
OR=6=X2 119,200
~HEIQ AR ZA3 70,000
—24d4 S| 30,000
- 244 T
200, 0002 x2EH =122 4,800
—2OIHES S TR
200,000 6 122 14,400
OZHcl SAHI 1,500,000& *22] 3,000
OZEFAHEZ SEHOH 150,000 +62] 900
At 29 482,674 615,990 133,316
201 er23| 29,580 28,760 820
01 AtR2t2|HI 16,080 20,500 A4,420
Odde==a 2dH| 7,200
-3 3= 450,000 *1 2= 122 5,400
—=A HEADS FY
150,000& « 12& 1,800
Od==Xte SIOIIHAIIE S
50,0002 123 600
O=sdd AEZ 690,000& * 122 8,280
2 S52g4l 13,500 8,260 5,240
Odde+=2a 2l & 38k=
525,000 122 6,300
Od==xte 78I 350,000 * 12 4,200
O WE 2l 3,000
202 04| 1,000 1,000
01 =LHOHI 1,000 1,000
Olzl2d &322 0]
100,000 2 +53] 1,000
301 EtE NS 452,094 436,230 15,864
Ristd - 2SFS2EYE 452,094 436,230 15,864
OelA| 252,400
—-J=2s 250,000
- d=ESH| 200,000& * 122 2,400
OL=¥=3 37,474
-daH dolE2Es 3,000
-4 28& 313,400,000& *11% 34,474
O&x= 18,000
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2A:

PN

M. MEME 84
chel: deIEXMS 2835 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
O=&b| 53,280
—-g==dt| 700,000& x5+ 122 42,000
ANt 1] A, 000 x5H *24 A 11,280
OsdE35+2l 6,800
Oul=t| 8,040
OUizl=db| 94,0003 x5 *30 14,100
ORx=6d==XI&4 61,000
~HEYLT TAD
600,000 *5F +73] 21,000
-8 RIY| 40,000
OZHAEAHI 1,000
FHH 29 400,000 400,000 0
308 AXISHMSOIN 400,000 400,000
13 I 2SHICHEHE & =AM 400,000 400,000
Oos4H 2¢ 400,000
s 29 50,000 45,000 5,000
307 QIZt01 A 50,000 45,000 5,000
02 QB AAIEER 50,000 45,000 5,000
Oo=s4H 22 X3 50,000
FAE ATX PA 29 4,000 4,500 AB500
307 212+01 A 4,000 4,500 A500
02 QIZtBAAIEER 4,000 4,500 AB00
OsA4 d2|na 23 4,000
SIMYSIE= PN b 270,000 280,000 A 10,000
308 AXIHMSOI & 270,000 280,000 210,000
08 WI|20stE X 270,000 280,000 A10,000
OuU=sEIEE HsHE BX= 240,000
Odaolld o2 XI&3 30,000
M=z =& L &It 2,814,623 2,508,504 306,119
203 RF=&H| 3,000 1,800 1,200
03 A FRIHRF=AIY| 3,000 1,800 1,200
OMEBHSUE HE L HSKY YLEA
]l 3,000
307 212+01™ 2,811,623 2,503,104 308,519
02 QItBAAIH E X 1,106,618 1,112,344 NbB,726
OHNe3zl ZadElid=sisl &It XA 418,284
- S0IXNAE &S| 238,34
- S0IXE =Hid| 135,230
—AAUNMT Zedgd & oHEHA| 44,700
OZ8IMEUE 28 54 X 416,000
OHM053 d=HM=sU3 &It K& 15,000
OHM53sl d=AEM=sUE &0t X2 12,000
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